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SK1. �Ä½Â3{1, 2, 3 · · · }þ��ÅCþX§EX = 2.

(1) y²H(X) ≤ 2.

(2) XÑl�o©Ù�§þª�Ò¤á§=H(X) = 2?

SK2. �X´���K�ê���ÅCþ§é�½��A > 0§Á¦3�

å^�

EX =
∞∑
n=0

np(n) = A

e¦��H(X)������VÇ�Ý¼êp(x)§¿¦ÑH(X)����.

SK3. �X1, X2, · · ·�ÕáÓ©Ù��ÅCþS�§��H(X). P

Cn(t) = {xn ∈ X n : p(xn) ≥ 2−nt}.

1. y²|Cn(t)| ≤ 2nt.

2. ¦limn→∞ P (X
n ∈ Cn(t)).

SK4. ÷v�M^��?è�Ã�èi´Ù¦?Ûèi��M. Áy²÷

v�M^��?è´���È�§¿y²÷v�M^��¤k?è���

²þè��uT�ÅCþ�âÅùè�²þ�Ý.

SK5. �0 < r < 1§�Ä��u0 ≤ x ≤ e−1þ����ÅCþ§ÙVÇ�
Ý¼ê�

fr(x) = Cr
1

x(− lnx)r+1
.

¦Ù�©�.
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SK6. ���j33 × 3 × 3�á�N�û¥��
. ù�j3�p���

�m�m§lù��m��,���m�VÇ´�Ó�. ~X§�á>��

mkn�Ñ�.@oT�ÅiÄ��Ç´õ�º

SK7. Pπ(n)�Ø�Ln��ê�ê. 5¿�éu?���ên§Ùk��

�/Xe��Ïf©)

n =

π(n)∏
i=1

pXi

i .

Ù¥p1, p2, p3, · · ·��ê. =p1 = 2, p2 = 3, p3 = 5, · · · . Xi = Xi(n)���

�K�ê§ÙL«n��Ïf©)¥pi�­ê. �N�3{1, 2, · · · , n}þþ!
©Ù����ÅCþ.

(1) y²Xi(N)����ê��ÅCþ§÷v

0 ≤ Xi(N) ≤ log n.

(2) y²log n = H(N) ≤ π(n) log(log n+1). l
π(n) ≥ logn
log(logn+1)

. AO

/�n→∞�kπ(n)→∞.

SK8. �kü�±P1ÚP2�=£Ý
�n�&�§&�Nþ©O�C1ÚC2.

y3�Ä±P1P2�=£Ý
�n�&�§XJÙ&�Nþ�C§y²C ≤
min(C1, C2).


